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ML9 Chapter 3 Problems of the Week Answers

BLM 3–4 Chapter 3 Problems of the Week

1.  
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. If the distance is doubled, the brightness decreases by 
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2. Example: The value of the power increases because x is a fraction and it is in the denominator. The value of the exponent decreases because fractions whose denominator is increasing will decrease further when multiplied by themselves. For example, when x = 
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, the base is 
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 and the power is 
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, which equals 2 because 1 ÷ 
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 = 2. 
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 × 
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3. a) 762 = 5776  b) Example: 252 = 625

4. The longest pole will fit diagonally in the box. For example, from the front bottom left corner to the back top right corner.

a2 + b2 = c2; 32 + 42 = c2; 5 = c
c2 + d2 = e2; 52 + 22 = e2; 
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The longest straight pole is 
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 m in length.
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